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Name: ____________________________

Solve.

1) 4 Twenty-six plums were in the basket. Twenty-two are red and the 
rest are green. How many plums are green?

2) 28 Twenty-five balls are in the basket. Three more balls are put in the 
basket. How many balls are in the basket now?

3) 2 Some apples were in the basket. Seventeen more apples were 
added to the basket. Now there are nineteen apples. How many 
apples were in the basket before more apples were added?

4) 31 Billy has twenty-four more oranges than Ellen. Ellen has seven 
oranges. How many oranges does Billy have?

5) 43 Anika has thirty-three pens. Sara gave her ten pens. How many 
pens does Anika have now?

6) 22 Billy has thirteen plums and Paul has nine plums. How many 
plums do Billy and Paul have together?
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7) 7 Thirty-six oranges were in the basket. More oranges were added 
to the basket. Now there are forty-three oranges. How many 
oranges were added to the basket?

8) 3 Thirty-seven marbles were in the basket. Thirty-four are red and 
the rest are green. How many marbles are green?

9) 22 Nineteen red plums and three green plums are in the basket. How 
many plums are in the basket?

10) 27 Anika loves to collect stickers. She has twenty-five stickers. Her 
mom gave her two stickers. How many stickers does she have 
now?

Solve.

11) 9 Paul has eight fewer pears than Michele. Michele has seventeen 
pears. How many pears does Paul have?

12) 25 David has three plums. Marcie has twenty-eight plums. How many 
more plums does Marcie have than David?
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13) 14 Some balls were in the basket. Fourteen balls were taken from 
the basket. Now there are zero balls. How many balls were in the 
basket before some of the balls were taken?

14) 5 Some peaches were in the basket. Five peaches were taken from 
the basket. Now there are zero peaches. How many peaches 
were in the basket before some of the peaches were taken?

15) 24 Allan has two fewer pears than Jake. Jake has twenty-six pears. 
How many pears does Allan have?

16) 1 Six peaches are in the basket. Five peaches are taken out of the 
basket. How many peaches are in the basket now?

17) 12 Twenty-six apples were in the basket. Some of the apples were 
removed from the basket. Now there are fourteen apples. How 
many apples were removed from the basket?

18) 13 Sharon has eleven peaches. David has twenty-four peaches. How 
many more peaches does David have than Sharon?

19) 5 Eight balls are in the basket. Three are red and the rest are green. 
How many balls are green?
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20) 23 Marin has five fewer balls than Donald. Donald has twenty-eight 
balls. How many balls does Marin have?

21) 2 Eight plums are in the basket. Six are red and the rest are green. 
How many plums are green?

22) 1 Ellen has two apples. Marin has three apples. How many more 
apples does Marin have than Ellen?

23) 8 Twenty-nine oranges were in the basket. Some of the oranges 
were removed from the basket. Now there are twenty-one orange. 
How many oranges were removed from the basket?

24) 4 Fourteen peaches were in the basket. Some of the peaches were 
removed from the basket. Now there are ten peaches. How many 
peaches were removed from the basket?

25) 14 Adam has six peaches. Allan has twenty zero peaches. How 
many more peaches does Allan have than Adam?
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Find the sum.

26) 18

32

22

72

+

27) 17

14

21

52

+

28) 30

15

29

74

+

29) 11

24

32

67

+

30) 30

15

32

77

+

31) 21

15

20

56

+

32) 32

13

19

64

+

33) 11

14

31

56

+

34) 28

11

29

68

+

35) 20

12

14

46

+

36) 15

25

25

65

+

37) 21

22

20

63

+

38) 27

26

15

68

+

39) 18

14

12

44

+

40) 30

29

24

83

+

41) 25

30

15

70

+

42) 25

28

25

78

+

43) 19

12

11

42

+

44) 32

17

28

77

+

45) 24

22

14

60

+

46) 26

21

13

60

+

47) 25

29

32

86

+

48) 18

19

26

63

+

49) 22

27

22

71

+
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50) 15

24

31

70

+

51) 17

14

18

49

+

52) 17

13

13

43

+

53) 24

27

18

69

+

54) 22

29

23

74

+

55) 24

22

15

61

+

What number should be added to the first number to make the
second number?

56) 75

92

17+

57) 24

46

22+

58) 58

82

24+

59) 22

25

3+

60) 48

92

44+

61) 13

14

1+

62) 29

33

4+

63) 40

72

32+

64) 12

12

0+

65) 11

13

2+

66) 12

35

23+

67) 29

89

60+

68) 54

95

41+

69) 27

54

27+

70) 19

41

22+

71) 16

28

12+
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72) 68

99

31+

73) 40

86

46+

74) 15

27

12+

75) 25

47

22+

76) 75

93

18+

77) 31

34

3+

78) 13

95

82+

79) 16

64

48+

80) 25

29

4+

81) 31

68

37+

82) 40

46

6+

83) 12

55

43+

84) 20

33

13+

85) 12

13

1+

Compare the numbers. Add: > or < or =

86) 2 < 77 87) 70 < 80 88) 3 < 87

89) 4 < 8 90) 47 < 62 91) 78 > 9

92) 92 > 32 93) 17 > 11 94) 35 < 58

95) 29 > 5 96) 2 < 16 97) 67 > 9

98) 51 > 2 99) 23 < 45 100) 39 > 9


